5-%

5-5)

5-1)

HOMEWORE. S SOLUTIONS

IC Yo w—wdwk’« s 004 nm Yhan Y2 memodom =
he  1240eVnm

pes AT pdam T 21 000eV
amd P @*  (Blxot)*

KE= am= 2mc® = " Q(enwonV) = WMoeV
So

[ Vo= 940wolts |

IE e ‘rz\ka, mwmm Yo be 9\431( tunm KTz 08528V
> = %ET = 003319 ¢V = hotxo T

The muss 6% G Y\-*Yogw molecuwle 1s

- -2
Jgg/boaxm = Y.bSxi0 Bg = Y46Sx/0 J:g
amd so 1le wemadym is

_ Lo~ ot ok )
- [amE])?=[a(4e500 ks ) 607 %0 3] = 2,38 10 “hyrmts

08 So>\ _ h/ Lb2oxo 20s ' —
£ = QA%Bxo0 '23%4\4/5 = LQ\"}B X160 m\ = . 002F 8 nem

Fieet we veed 4o £nd H mve)wg’e\. The newdton mass s
= 424,53 MeV/cA

S0
- s T z
oc= L:;l\: W\C,al = t&(O.DQeV)(@%S?X/OgéV)] = [120eV
=
h 12%0g V-rim
A= P Toey = D802

Thon  we  wveed nx= Psng

2_ 0\2030?”\
Sing= D= 0%5nm > | B= 40\1’1




E-6)| From our class votes, Tl Coku/ud'.@mﬁ'u?ﬂé enditim TS
D= Asing  whew d=asinet . Faw The gomatuy =74 = 2.5°
. B= Tp-ol = “}z’p’/z 508 30 we have
NA = Aq S?\/\Q//Z sn (@‘p//z>
= 2a8mPa cos
P@Su/vw\é n="1 amd &= 0.2 nm we have
>\ = /Q)(O.Q nm) Sin (%‘Sf’) cos (2629
= 0\847F nm.
The OwwopmM Maynaadun s
pe= M= 1290eV0m,/0 1543 nm= 37462 oV
QD E=phAm = (PO ame>
= (19622 4,545 0% V) | 0.02q1eV |
) E = ¢7/am = (7263 )%a(s 1 xi0%eV) = |5404V |
e

O T=pc = |F2eV |

5-3) ) 9%&: 0.004 L s ( 80x - H00L) + (o8 (Fbx - 380 0]

=( 0.004 [005 (02x = 10t) - o5 [18x - 3G0L) ]J
(b) The phuoe Wocity

Vou Wk = (300A)[38/m) = |Sdwls |

AIN) 10/s
2 f\g: o= D2k = |SOwls

&) e ewvelope 8 o wcve s M fondin oo (0.3% - 10£). Thy cas
fordims s zons & % )2’2 , o and so & t=0 e Zevos pccun
o O‘Q\x:ﬂ/z , 0.2}’5?2 , 0.2 352 efc.

X< 4 I/ T et

l —
The distome botwean 2ews s |Ax= ¢ = 153




We had Ak = 04/m s

Ab-Dx = 6.28 = 21

3 1%
=) We have ’p“ L e :] .

Lk}z =g _é - G "2-_ - G ) [/2_
Vp = (’?f é[ - [ )7 [%T] Vo = ,%ﬁ\ \
dus S - 4x%
= dv= AN DEEEA AT \@:ﬂéﬂj

.
S-a1)

K
Friom e omungey toma umudainty privciete AE 2 T

L0S¢x10™> TS >3 7
At = %3‘5 = 0S¢ x0 I = &S&«/Jg\/J
5%) I Ha unodainly in o sped is D= D0lem/s tum
AszA\r= )o'bé. )o’zcm/s = IO"' \Cé- }O_Qm/s
AD= 10"31484«/\/5
Tl’\lN\ "‘)/ GLZID xl,o“%q'aé — 2,
Ak~ Dp T = [0 ]
~24 —
_ h bb2bw0 ~ J A
5—3[,? We have Ax~ axlo |srzr\ %0 oAp ~ /AX = 240" m

= 5.3)(10’\0‘ lcg-m/s
oo e Yypial p it be anownd half iz valve

RN %10 kg m/s
pe~ (1 %o ke, w /s (2x/0%wm /) = 5)(/0—”\7

. ~ 3x0° e\
@¢>/2w\(,2 ~ 40 MeV fro i g s
2 ~

oy the -
> 87<IO"f MeV fn d&j ons uf(,lv%\/ .3HEM ﬁmuﬂa)

y

1

E
E



